E RERIN |[B{EFT *

FI% £ =5 | ¥% £ BEERE  |RF
KXKBE=TH 1 2| EniE 1436
KE=TH 1 3| EniE 1436
KBE=TH 1 3| EniE 1466
KBE=TH 1 4| EnFE 1466
KBE=TH 1 4| EnFE 1466
KBE=TH 1 15| B9t 1471
KBE=TH 1 17| B9t 1471
KBE=TH 1 17 B9 1380
KBA=TH 1 17| Ea¥E 147101
KBE=TH 1 17| B9t 1380
XHA=TH 1 17 BES
KBE=TH 1 17| B9t 1380
KBA=TH 1 17| Ea¥E 138101
KBE=TH 1 19 E9tB 1346
KBE=TH 1 22| EniE 1346
KBE=TH 1 23| EniE 1278
KBE=TH 1 24 TR
KBE=TH 1 24| EaNE 1351
KBE=TH 1 24| EaNE 13522
KBE=TH 1 24| EaNE 13525
KBE=TH 1 25| EaiE 1278
KBE=TH 1 25| EaiE 2378
KBE=TH 1 44| EONE 1454
KBE=TH 1 44| EANE 1454
KBE=TH 1 44| EANE 1454
KBE=TH 1 44| EONE 1454
KBE=TH 1 44| EANE 1454
KBE=TH 1 44| EANE 1454
KBE=TH 1 51| EaiE 1380
KBE=TH 1 52| EAiE 1380
KXKBE=TH 1 59| EAiE 1382
KXKBE=TH 1 60| EaiE 1382
KXKB=TH 1 60| EOiE 1382
KXKBE=TH 1 62| EOiE 14671
KXKBE=TH 1 62| EOiE 14671
KXKBE=TH 1 64| EOiE 1467
KXKBE=TH 1 64| EOiE 1467
KXKBE=TH 1 66| EOiE 1467
KXKBE=TH 2 1| Eafg 1455
KBEZ=TH 2 2| XA 199 FIs—k
KBEZ=TH 2 2| XA 199 FIs—k
KBEZ=TH 2 2| XA 199 FIs—k
KBEZ=TH 2 2| XA 199 FIs—k
KBEZ=TH 2 71 XA 199 FIs—k
KB=TH 2 8| Eais 1457 FI5—h
KB=TH 2 10 EaEs 1455 FI5—h
KB=TH 2 10 EaEs 1455 FI5—h
KB=TH 2 10 EaEs 145502 FI5—h
KB=TH 2 10 EaEs 1455 FI5—h
KB=TH 2 13| Eafs 14541 FI5—h
KB=TH 2 14| Eafs 1455 FI5—h
KB=TH 2 16| Eafs 1458 FI5—h
KB=TH 2 17| Eafgs 1454 FI5—h
KBE=TH 2 17 TR
KBE=TH 2 17 ER
KBE=TH 2 17 TR
KBE=TH 2 17 TR
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FI% £ 5 | ¥% i BEERE R
XA=TH 2 17 7T
KE=TH 3 1| Eats 1454
KBE=TH 3 3| EniE 1454
KBE=TH 3 4| EnFE 1446 (D4
KBE=TH 3 4| EnFE 1455
KBE=TH 3 4 TR
KBE=TH 3 4 TR
KBE=TH 3 4| EnFE 1454
KBE=TH 3 5| Eais 1447
KBE=TH 3 7| EOiE 1448
KBE=TH 3 9| Eais 1448
XB=TH 3 9| XA 1872
KBE=TH 3 9| Eais 1448
XB=TH 3 10l XA 187
KBE=TH 4 2| EniE 1464
KBE=TH 4 4| EnFE 1464
KBE=TH 4 4| EaNE 1464
KBE=TH 4 5| EaiE 1464
KA=TH 4 71 XA 199
KBE=TH 4 11| Eag 1457
KBE=TH 4 13| Ens BE
KBE=TH 4 13| Eng BE
KBE=TH 4 14| Eng 1453
KBE=TH 4 14| Eng 1458
KBE=TH 4 15| Eas 1453
KBE=TH 4 16| Ens 1452
KBE=TH 4 17| Eass 14522
KBE=TH 4 18| Ents 1452
KBE=TH 4 19| Ents 1452
KA=TH 4 20| XA 192
KXKBE=TH 4 21| EaiE 1458
KBEZ=TH 4 21l KA 191
KXKB=TH 4 23| EaiE 1448
KXKBE=TH 4 26| EaiE 1448
KXKBE=TH 5 2| EaiE 1462
KXKBE=TH 5 3| EaiE 1462
KXKBE=TH 5 4| EaNE 1462
KXKBE=TH 5 7| EaiE 1462
KXKBE=TH 5 10 Eafs 14693
KXKBE=TH 5 11| Easgs 1469
KXKBE=TH 5 12| Eas 1743
KXKBE=TH 5 12| Eas 1470M3
KXKBE=TH 5 13| Eas 1743
KXKBE=TH 5 13| Eas 1470M3
KB=TH 5 14| Eafs 1383
KB=TH 5 16| Eafs 1744
KB=TH 5 17| Eafgs 1380
KB=TH 5 18| EAE 1346
KB=TH 5 19| Eafs 1278
KB=TH 5 20| EfiE 1725
KB=TH 5 21| EaiE 1278
KB=TH 5 21| EaiE 1725
KB=TH 5 22| EaiE 1278
KB=TH 5 23| EaiE 14711
KBE=TH 5 23| EaiE 1345
KXKB=TH 5 23| EaiE 14721
KBE=TH 5 23| EaiE 1278
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XB=TH 6 1 %;g 474
XB=TE 6 1| Eais 278
XE=TH o 3 EE 1474
XA=TH 6 3 %’ﬂg 364 :
XA=TH 6 3 %’u]*g 44 2=
XA=TH 6 3 %’u]*g 474 2=
XA=TH 6 3 %’u]*g 474 2=
XA=TH 6 3 %’u]*g 474 2=
XA=TH 6 3 %’u]*g 474 2=
XA=TH 6 8 %’u]*g 278 2=
XA=TH 6 8 %’u]*g 1278 7/\_|~
XE=TH S 1474
XE=TH o o Em 1474
AA=TH 6 10 %’Mg o
ARZTE 0 I %g 147402
XA=TH S 17405
KXKB=TH 6 14 a4y
KXKB=TH 6 14 oA
KXKB=TH 6 15 oA
KXKB=TH 6 16 Rr2s
KA=TH 6 18 1278
KA=TH 6 19 1278
KA=TH 6 20 o
KA=TH 6 21 278
KA=TH 6 22 1278
KXKB=TH 7 2 1287
KXKB=TH 7 2 1278
KXKB=TH 7 2 1278
KXKB=TH 7 5 1278
XKB=TH 7 6 1278
KXKB=TH 7 6 1278
AA=TH 7 6 1278
iﬁiTE 7 12 s i
A=TH 7 12 1474 ‘
xA=Ts 7 2 1k KAFEIERE
xA=Ts 7 2 1k KAFEIERE
xA=Ts 7 2 1k KAFEIERE
xA=Ts 7 2 1k KAFEIERE
xA=Ts 7 2 1k KAFEIERE
xA=Ts 7 2 1k KAFEIERE
xA=Ts 7 2 1k KAFEIERE
xA=Ts 7 2 1k KAFEIERE
xA=Ts 7 2 1k KAFEIERE
B 7 2 1k KAFEIERE
B 7 2 1k KAFEIERE
~A=Ts 7 2 1k KAFEIERE
~A=Ts 7 D— 1k KAFEIERE
KBE=TH 7 15 %’u]*g 1278 Samazaan
KBE=TH 7 16 %’u]ig 1474 S
§E§$S 7 27 %’nﬂg e
= 7 =

AXA=TH 7 28 %’nﬂg 1278
AKA=TH 8 24 %’M’g 1452
§E§$S : 24§ 2 1452

8 43| EaNE 1485 mm
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e £ = | 7% i BEERE R
KXKBE=TH 8 45| EniE 1485
KE=TH 8 45| EniE 1485
KBE=TH 8 45| EnFE 1485
KBE=TH 8 51| EOis 1485
KBE=TH 8 51| EOis 1485
KBE=TH 8 52| EOiE 1485
KBE=TH 8 55| EAiS 1485
KBE=TH 8 55| EAiE 1495
XA=TH 8 62| EaiE BES
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